
1

64 49 65 49 43 56 56 43560
1 seater = 688mm

42

42

44 43

1212

43 43

1239

6 seater = 3663mm
43 43

1212

44

46
5 seater = 3068mm

640 12141214

46 46 4246

50 49
4 seater = 2473mm

50

1220

42

2 seater = 1283mm 3 seater = 1878mm
64

M10 x 100 allen cap screw

Insert adjustable glider into base.

Slot base and armrest into the seater beam and tighten with M10 X 100 allen cap screw.

A

A
B

B

adjustable glider

Diagram “A”
Front View

base

ba
se

armrest

seater beam

Voyage
models: G140 / G150 / G160 / G170 / G220
 B1 / B2 / B3 / B4 / B5 / B6 A28 J

remark: every seats C/W armrest 

ar
m

re
st

for 4 / 5 / 6 / seater

2 3

M10 x 70 allen cap screw

Slot seat shell and u-bracket lower into
seater beam (following measurement given) 
and tighten with M10 X 70 allen cap screw.

C D

C

D

u-bracket lower

seat shell

Slot armrest and u-barcket lower into the seater beam 
(adjust the armrest so that it is at the center of 2 seat 
shell) and tighten with M10 X 70 allen cap screw.

M10 x 70 allen cap screw

u-bracket lower

seat shellarmrest

seater beam



1

Insert side table beam into one or both end side of seater beam by using rubber hammer and tighten with M6 X 16 CSK allen cap screw. 

Insert adjustable glider into base.

Slot u-bracket upper (or armrest) & base into  seater beam and tighten with M10 X 100 allen cap screw.

Slot seat shell & u-bracket lower into seater beam and tighten with M10 X 70 allen cap screw. 
(Please refer assembly instruction for Voyage GXXX BX A00 J)

A
B
C
D

Fix table supporter to side table with M6 X 16 CSK M/C screw.

Slot side table + table supporter and u-bracket lower into side table beam and tighten with M10 X 70 allen cap screw.

E
F

Voyage
model: TS1 (Side Table)

2

A

C

B

D

u-bracket upper

seater beam

side table beam

M6 X 16 csk allen cap screw

M10 X 100 allen cap screw RUBBER
HAMMER

adjustable glider

base

Diagram “A”
Front View

ba
se

u-
br

ac
ke

t u
pp

er

SIDE TABLE BEAM

E

F

seat shell side table

M6 X 16 csk m/c screw

table supporter

side table beam

u-bracket lower

M10 X 70 allen cap screw

COMPLETED VIEW

seater beam



1

Insert the corner table extention beam into end of seater beam by using rubber hammer and tighten with M6 X 16 CSK allen cap screw.

Insert adjustable glider into base.

Slot u-bracket upper (or armrest) & base into seater beam and tighten with M10 X 100 allen cap screw.

Slot seat shell & u-bracket lower into seater beam and tighten with M10 X 70 allen cap screw.
(Please refer assembly instruction for Voyage GXXX BX A00 J)

A
B
C
D

Insert corner table beam into 2 di�erent seater beam and tighten with M10 X 75 csk allen cap screw and M10 hexagon nut.

Fix table supporter to round turn table with M6 X 16 csk m/c screw.

Slot round turn table + table supporter and u-bracket lower into corner table beam and tighten with M10 X 70 allen cap screw.

E
F
G

Voyage
model: TT1 (Turn Table)
 

2

COMPLETED VIEW

AA

B

D

B

C C

seater beam

M10 X 100 allen cap screw

corner table extention beam seater beamu-bracket upper

M6 X 16 csk allen cap screw

adjustable glider

M6 X 16 csk allen cap screw

Diagram “A”
Front View

ba
se

u-
br

ac
ke

t u
pp

er

E E

G

F
M10 X 75 csk allen cap screw M6 X 16 csk m/c screw

round turn table

table supporter

u-bracket lower

M10 X 70 allen cap screw

corner table beamM10 hexagon nut

seater beam



1

64 64 35 64 64 35 35 64560
1 seater = 688mm

64

64

64 35

1220

35 35

1223

6 seater = 3663mm
35 35

1220

64

35
5 seater = 3068mm

628 12201220

35 35 6435

35 35
4 seater = 2473mm

35

1220

64

2 seater = 1283mm 3 seater = 1878mm
64

M10 x 100 allen cap screw

Insert adjustable glider into base.

Slot u-bracket upper & base into the seater beam and tighten with M10 X 100 allen cap screw.

A

A

A

B

A

B

B

B

adjustable glider

Diagram “A”
Front View

base

ba
se

u-bracket upper

seater beam

Voyage
models: G140 / G150 / G160 / G170 / G220
 B1 / B2 / B3 / B4 / B5 / B6 A00 J u-

br
ac

ke
t u

pp
er

for 4 / 5 / 6 / seater

2

M10 x 70 allen cap screw

Slot seat shell and u-bracket lower into
seater beam (following measurement given)
and tighten with M10 X 70 allen cap screw.

C

Cu-bracket lower

seat shell

Change u-bracket upper to armrest
unscrew & remove the u-bracket upper replace by 
armrest & tighten by using M10 X 100 allen cap screw.

Add armrest in between seat
Slot armrest and u-barcket lower into the seater beam 
(adjust the armrest so that it is at the center of 2 seat 
shell) and tighten with M10 X 70 allen cap screw.

M10 x 70 allen cap screw

u-bracket lower

seat shellarmrest

unscrew & 
remove

Change or add-in armrests after complete chair:

seater beam


